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Section Id : 212807214

Section Number :

1



Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 1 Question Id : 2128076926 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Online
Mandatory
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Comprehension Comp1
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21280727703. 3

21280727704. 4



Question Number : 2 Question Id : 2128076927 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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Question Number : 3 Question Id : 2128076928 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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Options:

21280727709. 1
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21280727712. 4



Question Number : 4 Question Id : 2128076929 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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Question Number : 5 Question Id : 2128076930 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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21280727717. 1
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Question Number : 6 Question Id : 2128076931 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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Options:
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21280727724. 4



Question Number : 7 Question Id : 2128076932 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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21280727725. 1
21280727726. 2
21280727727. 3

21280727728. 4



Question Number : 8 Question Id : 2128076933 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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Options:

21280727729. 1
21280727730. 2
21280727731. 3
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Question Number : 9 Question Id : 2128076934 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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Options:

21280727733. 1
21280727734. 2
21280727735. 3

21280727736. 4



Question Number : 10 Question Id : 2128076935 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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Options:

21280727737.1
21280727738. 2
21280727739. 3
21280727740. 4

Sub-Section Number : 2



Sub-Section Id : 212807627
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 11 Question Id : 2128076936 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2
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Options:

21280727741.1
21280727742. 2
21280727743. 3
21280727744. 4



Question Number : 12 Question Id : 2128076937 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2
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Options:

21280727745. 1
21280727746. 2
21280727747. 3

21280727748. 4



Question Number : 13 Question Id : 2128076938 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2




sl 2 Bl s ¥
(Pl

Sk Gl o i s el S g

v # 3 ﬁ/ i f ; ; g
<ok G oy 2 2 oum Aoy Slenl Ao i gl
. 0 ! o 7 7
RN TR A S A ph S E
TR 1{ 55 f-'/ O Ul @l -;ﬂ«j -J» ol < L;,ff- #
P uﬁﬁf p S, S S o o ool St
5 ¢ : @ ‘&/, v - R 3 ¢ ,JK bl 3 g
B gy g H g s o oe o oAb A, gl U8 by
'y 7 K v - ¥ % + * "
b p oyl Sodr s ol h m s n§ow

- . 4 {
S I Y " N NP S AT T (e

Fugip s (AT

1980 (1)
1981 (2)
1979 (3)
1969 (4)

Options:

21280727749. 1
21280727750. 2
21280727751. 3
21280727752. 4



Question Number : 14 Question Id : 2128076939 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2
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Options:

21280727753. 1
21280727754. 2
21280727755. 3

21280727756. 4



Question Number : 15 Question Id : 2128076940 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2
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Question Number : 16 Question Id : 2128076941 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2
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Question Number : 17 Question Id : 2128076942 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2
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Question Number : 18 Question Id : 2128076943 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2
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Question Number : 19 Question Id : 2128076944 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2
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Question Number : 20 Question Id : 2128076945 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2
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Sub-Section Number : 3



Sub-Section Id : 212807628
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 21 Question Id : 2128076946 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3
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Question Number : 22 Question Id : 2128076947 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3
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Question Number : 23 Question Id : 2128076948 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3
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Question Number : 24 Question Id : 2128076949 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3
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Question Number : 25 Question Id : 2128076950 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3
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Question Number : 26 Question Id : 2128076951 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3
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Question Number : 27 Question Id : 2128076952 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3
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Question Number : 28 Question Id : 2128076953 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3
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Question Number : 29 Question Id : 2128076954 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3




sl Sl i Bla 75730 5 14

@l
‘_f/;l z 'dlﬁ,b’“z,c;;;;_,_m5;ﬁjfzsfgg<&gi.,,____"
DR " 1 | RESTS|  Rr  BY S o G ; fs'ji & &= sl g
LRl g 25 2o (Mache)L 2.1 z %€ (Papien)Zte¥ 4 ‘-,FJ U"-VJI_)-
b ouRb B E 2 Sl g §opst o b L o 2 P
S osg M opk w3z F oo L n £ o our oab B

-

g & oA F ¥ omos o #

-5 £ ey _J-(LJ" b J[“/ ﬁ &4 é )‘:dﬁj;?ﬁ"s';"
5 ¥ = 3 -
# J Wi B . F S 2 X L M F By e JE

X oM g oz oz #2086 b5 F ol b e I Jlwd g

.._.fi‘ [ H-E! 5’-: \:rllg' ,:.,J:: = j{ A-‘K e .'L- _...L ,._-’,.:,"?g - .;1: c"li ;,.,{3 ;?g‘y::

L= i ] - = =
= Vlﬂ £ jj ’.3/ - ¥ £, = ul{ sl Ll U"é % ..)F_f
o ~ i
ol U o mL sl oz 2 oo o Loy A g Fl A o

RPN SR SYg

AW

Ji¥ (@)

e )

JI: ()

Options:

21280727813. 1
21280727814. 2
21280727815. 3

21280727816. 4



Question Number : 30 Question Id : 2128076955 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3
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Sub-Section Number : 4



Sub-Section Id : 212807629
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 31 Question Id : 2128076956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(D), (B), (A), (C), (E) (1)
(B), (E), (A), (D), (C) (2)
(E), (0), (A), (D), (B) (3)
(D). (A). (B), (E), (C) (4)

Options:
21280727821. 1

21280727822. 2




21280727823. 3

21280727824. 4

Question Number : 32 Question Id : 2128076957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

v i o % . B A f J:.A - ; vk
:é‘i&fjjﬂfﬁz@yél{ﬂ};’yaymg Py )

sl (A)
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(D), (B), (B), (C), (A) (1)
(B), (D), (C), (A), (E)  (2)
(E), (B), (D), (A), (C)  (3)
(©), (B), (E), (A), (D) (4)

Options:
21280727825. 1

21280727826. 2



21280727827.3

21280727828. 4

Question Number : 33 Question Id : 2128076958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(D), (B). (A), (C) (1)
(C), (B), (D), (A)  (2)
(D), (B), (C), (A)  (3)

(4)

(A), (B), (D), (C)
Options:
21280727829. 1
21280727830. 2
21280727831.3
21280727832. 4



Question Number : 34 Question Id : 2128076959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(D), (A), (B), (C) (1)
(A), (B), (©), (D) (2)
(©). (D). (B).(A) (3)
(B). (D). (C).(A)  (4)

Options:

21280727833. 1

21280727834. 2

21280727835. 3

21280727836. 4

Question Number : 35 Question Id : 2128076960 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(B), (A). @), (C) (1)
(D), (A), (C), B)  (2)
(©), (A), B), (D) (3)

(4)

(B). (D), (A), (C)
Options:
21280727837. 1
21280727838. 2
21280727839. 3

21280727840. 4

Question Number : 36 Question Id : 2128076961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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(A)-(IV), (B)-(D), (C)-(IID), (D)-(ID (1)
(A)-(IID), (B)-(IV), (C)-(II), (D)D) (2)
(A)-(ID), (B)-(I), (O)-(ID), (D)-(IV) ~ (3)
(A)-(ID), (B)-(1), (C)(III), (D)(IV) ~ (4)

Options :

21280727841.1

21280727842. 2

21280727843. 3

21280727844. 4

Question Number : 37 Question Id : 2128076962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ
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(A)-(ID), (B)-(D), (C)-(IV), D)) (1)
(A)-(IV), (B)(D), (O)-(II), (D))~ (2)
(A)-(IV), (B)-(I1D), (C)-(II), (D)D)~ (3)
(A)-(IV). (B)-(I1D), (C)-(I,(D)-(1D)  (4)

Options:

21280727845. 1

21280727846. 2

21280727847. 3

21280727848. 4

Question Number : 38 Question Id : 2128076963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(A)-(IID), (B)-(I), (C)-(IV), (D)-(1D)  (
(A)-(IV), (B)-(I1D), (O)-(1), (D)-(II) (2
(A)-(ID, (B)-(IV), (O)«(D), (D)-(IL) ~ (
(A)-(ID), (B)-(IV), (C)-(II), (D)D)~ (

Options:

21280727849. 1

21280727850. 2

21280727851. 3

21280727852. 4

Question Number : 39 Question Id : 2128076964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

21280727853. 1
21280727854. 2
21280727855. 3

21280727856. 4

Question Number : 40 Question Id : 2128076965 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

(A)-(IV), (B)-(IID), (C)-(1I), (D)(I) ~ (
(A)-(ID), (B)-(D), (O)-(IV), (D)-(1I)) (2
(A)-(ID, (B)-(IV), (O)«(D), (D)-(IL) ~ (
(A)-(ID), (B)-(IV), (O)-(III), (D)D)~ (

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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(A)~(ID), (B)-(II), (C)-(IV), (D)-(D) ~ (
(A)-(IV), (B)-(I1D), (O)-(1), (D)-(II) (2
(A)-(ID, (B)-(I), (C)«(IV), D)-(II) ~ (
(A)-(IV), (B)-(ID), (C)-(ID), (D)D)

Options:

21280727857.1

21280727858. 2

21280727859. 3

21280727860. 4

Question Number : 41 Question Id : 2128076966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

21280727861. 1
21280727862. 2
21280727863. 3

21280727864. 4

Question Number : 42 Question Id : 2128076967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :
21280727865. 1
21280727866. 2
21280727867. 3
21280727868. 4

Question Number : 43 Question Id : 2128076968 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

21280727869. 1
21280727870. 2
21280727871.3

21280727872. 4

Question Number : 44 Question Id : 2128076969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :

21280727873. 1
21280727874. 2
21280727875. 3

21280727876. 4

Question Number : 45 Question Id : 2128076970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :

21280727877.1
21280727878. 2
21280727879. 3
21280727880. 4

Question Number : 46 Question Id : 2128076971 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :

21280727881. 1
21280727882. 2
21280727883. 3

21280727884. 4

Question Number : 47 Question Id : 2128076972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :

21280727885. 1
21280727886. 2
21280727887.3

21280727888. 4

Question Number : 48 Question Id : 2128076973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

21280727889. 1
21280727890. 2
21280727891. 3
21280727892. 4

Question Number : 49 Question Id : 2128076974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

21280727893. 1
21280727894. 2
21280727895. 3

21280727896. 4

Question Number : 50 Question Id : 2128076975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:
21280727897. 1
21280727898. 2

21280727899. 3
21280727900. 4


Free Hand


